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ME-803 (B) (GS)
B.Tech., VIII Semester
Examination, May 2023
Grading System (GS)
Energy Conservation, Management and Audit

Time : Three Hours
Maximum Marks : 70

Note: i) Attempt any five questions.
fep81 e HeHt o g1 o
i1) All questions carry equal marks.
et gl & |/ 3P 2
" iii) In case of any doubt or dispute the English version
question should be treated as final.

et oft wepR 3 Eog aremar faag i RARY F 3@t we
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1. a) Explain the energy management opportunities in motors.
Aicd ¥ Sl HEEE & AETRT DY ARAT HY |
b) What is the Duties and responsibilities of energy
managers? )
Sietf srduet 3 ater AR RrtarRat @ar 2

2. What is meant by waste heat recovery? What are the direct
and indirect benefits of waste heat recovery?

SIIFNE AT gAY < s 22 srafe T avel 3 e
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3. a) Whatismeantby simple payback period? Calculate simple
payback period for a boiler that cost Rs.75.00 lakhs to
purchase and Rs. 5 lakhs per year on an averagé to operate
and maintain and is expected to annually save Rs. 30 lakhs?
YR Gdes Srafly ot arar aref &7 e dfger & g wryRo
Y Irafty B o o R @i 3 R1Y 75.00 TR T
AR T iR wavwmE & forg atta wiy af 5 o W
& AT STTH & 3R A 30 oI W F9E Y anfig 27

b) Write short note on force field analysis and its application.

o1 & freawur 3ik T ST 9e S fRogoft Rif)

4. a) Explain any five energy management opportunities in
lighting systems.
BT SHavT ¥ F5o1t Heee & e gie argeRt i arRer
G o
b) Explain the maximum demand.
Hftrepas A &HY AT P
c¢) [Explain the methods to control maximum demands.

Fftrasa "l @1 FRifSa e % afie! & =rear 53

5. a) Whatis meant by Steam traps? Explain the operation of
thermostatic steam trap.
w9 $9 | T2 arcod 87 emtefes win 3v & darem &t
T T

b) Explain how setting a lower evaporator temperature helps

in reducing the power consumption of an air conditioning
system? List down any three energy saving measures in
domestic air conditioning system. _
THEG 5 9 arsfieor auHE We FRA /@R Bt
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6. a) Differentinte between simple payback period and net

present value method, U SRR g1 diett @) bl faaTell Hﬂamaﬁm 5000 kVA

I Ser ) orafty ik g adw e agf & 4 61 arEy T 1 0.95 3 Sy ere o Wi Y it e

IR BT 3850 KVA/ATE &1 siftvarest fRRAT . S00/KVA/MTE H X A
b) Explain the importance of Thermal insulation for thermal &t ol &1 =pere e avr aift T sFEY B A @ 75%

energy management. " _ w e &

oA St wae & 1T enfel sl & Y e 1 0.95 Q 31fe AR theex ¥ mde 0.01 gfe W Rereht

Ead o St 9 Hew 3 0.5% et a1 sieere et R SR 21
¢) What is the effect of low power factor of the system? wga & foe ufey oy fRoeh ﬂﬁ.ﬂﬂ'ﬁﬁ'ﬂﬁ Tl geh HTh

Riee & @Y araR ey &1 @4 uwE &) 20 A T &1 e HRe T o e aRd diay hacx

7. a) Wh by loading of aﬁmazﬁmﬁﬁﬁumam%mhwwaﬂwmﬁ
. a at is meant by loading of motor? Why does th : Tax thaex @t 0.95

efficiency of motor reduce when it cperatgs at lowr:- e e o afies A1 BT gar ameel IR

loading? List down any 2 steps to improve the operating Qena b GUTA & o7 3ma%ae kVAR gira Hiforgl

efficiency of under-loaded motors.

q}amaﬂ#aﬂmm%?mﬁﬁﬁnmﬂa#wtha _ P
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Z&T ¥ GuR & g 5 2 9ol & a2l 7=
b) Explain the Concepts of energy efficient motors.
Tl el AicH $H IJquROTT H arear IR

8. A paper manufacturing company has a contract demand of
5000 kVA with the power supply company. The average
maximum demand of the plant is 3850 kVA/month at a power
factor of 0.95. The maximum demand is billed at the rate of
Rs.500/kVA/month. The minimum billable maximum demand
is 75% of the contract demand. An incentive of 0.5% reduction
in energy charges componcnt of electricity bill is provided
for every 0.01 increase in power factor over and above 0.95.
The average energy charge component of the electricity bill
per month for the plant is Rs. 20 lakhs. The plant decides to -
increase the power factor to unity by installing capacitor banks, Send your old paper & get 10/-
Find the annual reduction in demand component charges and T = gow der i 10 IO 9,
energy component charges? Find the kVAR required to improve .
the power factor from 0.95 to unity? e P ' Paytm or Google Pay &
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